

A NOTE ON SOME INTEGRODIFFERENTIAL INEQUALITIES

BY

GOU-SHENG YANG

Dedicated to Professor Tsing-houa Teng on his 80th birthday

1. Introduction. Recently, Pachpatte [2] has applied a generalized Opial inequality [3] to obtain some integrodifferential inequalities of the Gronwall type. We will prove in this note a more general Opial inequality, and use it to derive a new integrodifferential inequality of the Gronwall type.

2. Inequalities of the Opial type. We first prove a general Opial inequality as following:

Theorem 1. If p is a bounded, positive and nonincreasing function on $[a, b]$, and if y is an absolutely continuous function on $[a, b]$ such that $y(a) = 0$, then

$$\int_a^b p(x) |y(x)|^m |y'(x)|^n dx \leq \frac{n(b-a)^m}{m+n} \int_a^b p(x) |y'(x)|^{m+n} dx,$$

where $m, n \geq 1$.

Proof. The case $m = n = 1$ was proved in [1], so we may assume that $m, n > 1$. Define

$$z(x) = \int_a^x (p(t))^{n/(m+n)} |y'(t)|^n dt, \quad x \in [a, b].$$

Then

$$z'(x) = (p(x))^{n/(m+n)} |y'(x)|^n, \quad x \in [a, b].$$

Using Hölder's inequality, we have

$$\begin{aligned}
|y(x)| &\leq \int_a^x |y'(t)| dt \\
&\leq \left(\int_a^x (p(t))^{n/(m+n)} |y'(t)|^n dt \right)^{1/n} \\
&\quad \cdot \left(\int_a^x (p(t))^{(-n)/((m+n)(n-1))} dt \right)^{(n-1)/n} \\
&\leq (z(x))^{1/n} (p(x))^{(-1)/(m+n)} (b-a)^{(n-1)/n},
\end{aligned}$$

so that

$$\begin{aligned}
&\int_a^b p(x) |y(x)|^m |y'(x)|^n dx \\
&\leq \int_a^b (p(x))^{n/(m+n)} (z(x))^{m/n} (b-a)^{m(n-1)/n} |y'(x)|^n dx \\
&= (b-a)^{m(n-1)/n} \int_a^b (z(x))^{m/n} z'(x) dx \\
&= \frac{n(b-a)^{m(n-1)/n}}{m+n} \left(\int_a^b (p(x))^{n/(m+n)} |y'(x)|^n dx \right)^{(m+n)/n}.
\end{aligned}$$

But, using Hölder's inequality again, we have

$$\begin{aligned}
&\int_a^b (p(x))^{n/(m+n)} |y'(x)|^n dx \\
&\leq \left(\int_a^b dx \right)^{m/(m+n)} \left(\int_a^b p(x) |y'(x)|^{m+n} dx \right)^{n/(m+n)}.
\end{aligned}$$

Hence we have the desired inequality.

By define

$$z(x) = \int_x^b (p(t))^{n/(m+n)} |y'(t)|^n dt, \quad x \in [a, b],$$

and using a similar argument as in the proof of Theorem 1, we have

Theorem 2. If p is a bounded, positive and nondecreasing function on $[a, b]$, and if y is an absolutely continuous function on $[a, b]$ such that $y(b) = 0$, then

$$\begin{aligned}
&\int_a^b p(x) |y(x)|^m |y'(x)|^n dx \\
&\leq \frac{n(b-a)^m}{m+n} \int_a^b p(x) |y'(x)|^{m+n} dx,
\end{aligned}$$

where $m, n \geq 1$.

Combining the preceding theorems, we have

Theorem 3. If p is a bounded, positive and monotonic function on $[a, b]$, and if y is an absolutely continuous function on $[a, b]$ such that $y(a) = y(b) = 0$, then

$$\begin{aligned} \int_a^b p(x) |y(x)|^m |y'(x)|^n dx \\ \leq \frac{n(b-a)^m}{m+n} \int_a^b p(x) |y'(x)|^{m+n} dx, \end{aligned}$$

where $m, n \geq 1$.

We note that when $m = n = 1$, $p(x) = 1 \forall x \in [a, b]$, then Theorem 3 is the original Opial inequality [1]. Also, when $p(x) = 1 \forall x \in [a, b]$, then Theorem 3 becomes Theorem 6 of [3].

3. Inequalities of the Gronwall type. The following theorem is an application of Theorem 1:

Theorem 4. If p and y satisfy the conditions of theorem 1, if f and g are nonnegative functions such that

$$\begin{aligned} |y'(x)| \leq K + \int_a^x f(t) |y'(t)| dt \\ + \int_a^x g(t) \left(\int_a^t p(s) |y(s)|^m |y'(s)|^n ds \right) dt \end{aligned} \quad (1)$$

holds for $x \in [a, b]$, where K is a positive constant and $m, n \geq 1$, if

$$\begin{aligned} R(x) = 1 - (m+n-1) K^{m+n-1} \\ \cdot \int_a^x p(t) \exp \left[(m+n-1) \int_a^t r(s) ds \right] dt > 0 \end{aligned}$$

for $x \in [a, b]$, where

$$r(x) = f(x) + \frac{n(x-a)^m}{m+n} g(x),$$

then

$$\begin{aligned} |y'(x)| \leq K \exp \left(\int_a^x q(t) dt \right) \\ + \frac{n}{m+n} \int_a^x (t-a)^m g(t) Q(t) \exp \left(\int_t^x q(s) ds \right) dt, \end{aligned}$$

for $x \in [a, b]$, where

$$Q(x) = K(R(x))^{1-m-n} \exp \left(\int_a^x r(t) dt \right), \quad q(x) = f(x) - \frac{n(x-a)^m}{m+n} g(x).$$

Proof. For $x \in [a, b]$, let $u(x)$ be the right member of (1). Then

$$(2) \quad |y'(x)| \leq u(x),$$

and

$$u'(x) = f(x)|y'(x)| + g(x) \int_a^x p(t)|y(t)|^m |y'(t)|^n dt, \quad u(a) = K.$$

Using Theorem 1 and (1), we have

$$u'(x) \leq f(x)u(x) + \frac{n(x-a)^m}{m+n} g(x) \int_a^x p(t)(u(t))^{m+n} dt.$$

Adding $(n(x-a)^m/m+n)g(x)u(x)$ to both sides of the above inequality, we have

$$(3) \quad \begin{aligned} u'(x) + \frac{n(x-a)^m}{m+n} g(x)u(x) &\leq f(x)u(x) \\ &+ \frac{n(x-a)^m}{m+n} g(x) \left[u(x) + \int_a^x p(t)(u(t))^{m+n} dt \right], \end{aligned}$$

which implies

$$(4) \quad \begin{aligned} u'(x) &\leq f(x)u(x) \\ &+ \frac{n(x-a)^m}{m+n} g(x) \left[u(x) + \int_a^x p(t)(u(t))^{m+n} dt \right]. \end{aligned}$$

Let

$$(5) \quad v(x) = u(x) + \int_a^x p(t)(u(t))^{m+n} dt.$$

Then $v(a) = K$ and

$$(6) \quad u(x) \leq v(x).$$

Differentiating (5) and using (4) and (5) we see that the inequality

$$v'(x) \leq r(x)v(x) + p(x)(v(x))^{m+n}$$

is satisfied, which is equivalent to

$$(7) \quad (v(x))^{-m-n} v'(x) - r(x)(v(x))^{1-m-n} \leq p(x).$$

Let $w(x) = (v(x))^{1-m-n}/(1-m-n)$.

Then $w(a) = K^{1-m-n}/(1-m-n)$ and (7) becomes

$$w'(x) + (m+n-1)r(x)w(x) \leq p(x),$$

which implies the estimation for w such that

$$\begin{aligned} w(x) \exp \left[(m+n-1) \int_a^x r(t) dt \right] \\ \leq \frac{K^{1-m-n}}{1-m-n} + \int_a^x p(t) \exp \left[(m+n-1) \int_a^t r(s) ds \right] dt. \end{aligned}$$

Hence

$$\begin{aligned} (v(x))^{1-m-n} &\geq \left\{ K^{1-m-n} + (1-m-n) \int_a^x p(t) \right. \\ &\quad \cdot \exp \left[(m+n-1) \int_a^t r(s) ds \right] dt \Big\} \\ &\quad \cdot \exp \left[(1-m-n) \int_a^x r(t) dt \right] \\ &= K^{1-m-n} R(x) \exp \left[(1-m-n) \int_a^x r(t) dt \right], \end{aligned}$$

so that

$$v(x) \leq Q(x).$$

Now using (3) we have

$$u'(x) - q(x)u(x) \leq \frac{n(x-a)^m}{m+n} g(x) Q(x),$$

which implies the estimation for u such that

$$\begin{aligned} u(x) \exp \left(- \int_a^x q(t) dt \right) \\ \leq K + \frac{n}{m+n} \int_a^x (t-a)^m g(t) Q(t) \\ \quad \cdot \exp \left(- \int_a^t q(s) ds \right) dt. \end{aligned}$$

Thus

$$\begin{aligned} (8) \quad u(x) &\leq K \exp \left(\int_a^x q(t) dt \right) \\ &\quad + \frac{n}{m+n} \int_a^x (t-a)^m g(t) Q(t) \\ &\quad \cdot \exp \left(\int_t^x q(s) ds \right) dt. \end{aligned}$$

Now substituting (8) in (2), we obtain the desired inequality.

We note that Theorem 2 of [2] is the special case of Theorem 4 when $p(x) = 1 \forall x \in [a, b]$. Also we note that similar results can be obtained by using Theorem 2 or Theorem 3.

REFERENCES

1. Z. Opial, Sur une inegalite, Ann. Polon. Math. 8 (1960) 29-32.
2. B.G. Pachpatte, A note on Gronwall type integrodifferential inequalities, Tamkang J. Math. Vol. 9, No. 2 (1978) 151-156.
3. G.S. Yang, On a certain result of Z. Opial, Proc. Japan Acad. 42 (1966) 78-83.

Department of Mathematics
Tamkang University
Taipei, Taiwan
R.O.C.